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1. 1- " If demand and supply increase with equal rate, then equilibrium price ol 337 Fi 3 4ls Jh aes .,Abfl sl 1

decreases < (b x [ (B)
does not change Jﬁ u-‘-’ Jx (D)

increases q_.atg 2% (A)

becomes zero < Jl.g n 2 (C)

2 - The law of decreasing cost is also called, law of - 3’_/ i W96 e .J:w UiF -2
increasing returns J' Lv’/:"ﬁ (B) decreasing returns J" lp;,’:.’w (A)
variable proportions c-dl_/l;/f‘" (D) constant returns d"b&l,f {C)
3- Demand is a function of e SR N T b -3
saving =% (D) supply 4+~ (C) quantity & (B) price =t (A)
4 - The additional revenue derived from selling an extra J e LS 235 B 3l L Sabstag 2 s -4
unit of production is called il e dw
total revenue U Jf (B) average revenue s bl (A)
marginal revenue Js F"‘ (D) cash receipt dm & (C)
5- Wage is the reward of , a factor of production. b ¥ eré; Je=zi -5
capital -\ (D) labour = (C) “organization 27 (B) land 2 (A)
6 - The law of diminishing returns is generally applicable,to g b 2 6 €S J:'.Wu)l?{ #Wee -6
trade <«.¢ (D) handi€raft  S/ss (C) argiculture <slii (B) industry == (A)
7 - Average revenue under perfect competition is equalto -« Gﬁ yops U bt [')L}f i J"f -1
price . (D) gosts _iler (C) supply 4~ (B) demand ¥ (A)
8 - first of all, gavé théconcept of perfect competition. -k & ' .&'_: e w14 K A J‘c -8
Robbins _ A\(D) Keynes # (C) Marshal 4 (B) Adam Smith &7 (A)
9 - Increase .ifftotal dostitlue to production of an extra unit of o Sl S i g dgi 41 L J& Jr -9
goods is called - cit e by 3ol 2
total cost sl J (B) average cost ile Lol (A)
fixed cost ket o (D) marginal cost A% f"; (C)
10 - Number of fractors of production is = st in.g_g S <10
eight #7 (D) six £ (C) four s (B) two » (A)
11- Marginal cost for labour is equal to - Sl L e PPl e 11
consumption i~ (D) capital L (C) wages «=2Zi (B) income (47 (A)
12 - The slope of supply curve is - b Wz K ls -12
vertical $»f (D)  horizontal (I (C)  positive =3 (B) negative ¢ (A)
13- One of the following, is not included in variable cost. _u.?’JL‘« S e e LJitn <18

wages of ordinary workers =2 § UsJ8 L (B)  wages of permanent employees ezl Etn & e

publicity expenses b/l £ Gl AP (D)

(ii JJ!)

transportation cost <kl L S5 (C)
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______ said, "Economics is a science of material welfare". -"< H” ErnrsL Db lP b {.J; ¥ &

Adam Smith ‘T (D) Fisher / (C) Marshall J4 (B) Robbins s (A)

According to "Law of Supply" when price falls, the supply -<- e &l ( ed Qb & a g9b

alsofalls Jex( (B) ises Ol o (A)

' remains the same (% (§+ (D) becomes zero J[g « (C)

When total utility is maximum, then marginal utility e o361 7 T b s e mb ool F

is negative t‘ﬂ(j:’ (D) decreases L'ff (C) iszero (x4 (B) increases (»% (A)
The pioneer of "Economics"” is e oL ¥ "

Robbins #, (D) J.SMill J-(#-z- (C) Adam Smith 2T (B) David Ricardco 15,545 (A)

The other name of equi-marginal utility is law of -< (Ll ¥ "f‘?ulil Sl I
costs iAerwdF (D)  supply 4w JE (C) substitution Ju w96 (B)  demand st (A)
The elasticity of demand of durable goods is e U SIS PP
equal to unity .z £ ¥ (B) less than unity A& 8! (A)

zero (D) greater than unity, »sbi < JK! (C)

The quantities which change their values in practical life S u’l(f u‘? Vj/ Jrgss &= J»‘J J’ 7 J I 03
but are assumed constant for special purposes are known as-Jt 8!1;-'/ <t LJ./ S/ J"“" el
variables 12> (D) fixed & (C) parameters U4 (B) © constants =15 (A)
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Note: Section I is compulsory. Attempt any THREE (3)

questions front Section IL
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Section -1 J3l o

9 - Write short answers to any EIGHT (8) questions. (2x8= 16) -5{/’;“12/3& = Uly (8) 2T = J!— 2

e
11 -
il -
v -
V-
Vi -
Vil -
viii -
iX -
x..
Xi -

X1i -

Write down two characteristics of utility.
Write down Robbins definition of Economics.
What is meant by scarcity?

Write down two characteristics of Economics wants.
Define the law of equi-marginal utility.

What is meant by wealth?

What is meant by negative utility?

What is meant by dependent variable?
Define parameters.

Write down the formula of arc-elasticity.
What is meant by derived demand?

Define the point elasticity.
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3 . Write short answers to any EIGHT (8) questions. ¢(2x8= 16) .._é{fcpylﬁ/ﬂﬁal}if (8) #T = (,’5:(— 3

vi -

vii -

viii -

What is meant by long period supply?

What is meant by law of supply?

Show fall in supply by diagram.

Show increasing relationship between price and quantity
supplied, by a diagram.

How equilibrium price Will be affected with a decrease in
demand whemsupply remains fixed?

What is meant'by labour?

Write down two factors which speed up the process of
capital formation.

Why entrepreneur is considered as most dynamic factor
of production?

Describe the role of labour in production of wealth.

Why does law of increasing returns is called law of
decreasing cost?

What is meant by law of constant returns?

Write down two merits of large scale production.
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4 - Write short answers to any NINE (9) questions.  (2x9=18)

§=
11 -
1i1 -
iv -
v_
ihe
Vil -
viil -

ix -

Xi-
Xii -

X1i1 -

Define fixed cost.

What is meant by short run cost of production?
Write down the definition of total cost.

Define long run cost of production.

What is meant by total revenue?

Write down the definition of marginal revenue.
What is meant by firm's equilibrium?

Define marginal cost.

What is meant by homogeneity of product?
What is meant by perfect mobility of factors of production?
Write down definition of monopoly.

Write down two properties of short run market.

Define marginal productivity theory.
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Section - II (2 -

Explain law of equi-marginal utility with schedule (10) -2 RoCbe (LH15 i ot S Fubilouds - 5
and diagram.
Explain the measurement of elasticity of demand with (10) R By PSRV JJjg g S -6

the help of total expenditure method.

Explain fall and rise in supply with schedule and diagram. (10) .

What is law of diminishing returns? Explain it with the (10)
help of schedule and diagrams

Explain the marginal productivity theory. (10)
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